
combustion engineering specialists

225 Mooresville Blvd • Mooresville • NC 28115
Tel  704-660-1500    Fax 704-360-1199  •  www.flynnburner.com

Unimixer®

Dimensions in inches

DP No. Mixer A B C D E F G H J K L M N O

093500 88 14-3/16 10-1/2 5-15/16 4-7/8 3 2-3/4 3-3/8 2-1/2 3-1/2 2-5/16 11/16 3/4 1 1

094000 810 16-15/16 13-1/4 6-3/16 7-5/8 3 2-3/4 3-3/8 2-1/2 3-1/2 2-5/16 11/16 3/4 1 1-1/4

094500 1212 21-15/16 16-7/8 7-9/16 8-1/4 4-1/2 5-1/2 3-1/2 4 4-5/16 3 3/4 3/4 1-1/2 1-1/2

095000 1616 25-3/8 20-1/8 8-3/4 9-7/8 5-1/8 6-1/2 3-11/165 5-7/16 3-7/8 3-7/16 1 1 2 2

095500 2420 32-1/16 26-1/8 10-7/16 14 6 7-1/2 4-3/8 6 6-9/16 4-3/8 1-1/2 1-1/2 3 3

Dimensions

Gas 
Inlet

Air 
Inlet

Mixture 
Outlet

DescriptionDescription

The Flynn Unimixer® ishe Flynn Unimixer® is
a proportional mixing a proportional mixing 
device that utilizes  the device that utilizes  the 
energy from a stream energy from a stream 
of air to entrain a of air to entrain a 
combustible gas combustible gas 
and delivers and delivers 
the mixture the mixture 
to the 
burners.  burners.  
Because of Because of 
refi nements refi nements 
in design this in design this 
Unimixer will Unimixer will 
maintain accurate maintain accurate 
gas-air proportions at all gas-air proportions at all 
fl ows when supplied with zero pressure fl ows when supplied with zero pressure 
gas. This characteristic gives the combustion system a gas. This characteristic gives the combustion system a 
wider range of operation without requiring higher initial air pressure wider range of operation without requiring higher initial air pressure 
and reduces sensitivity with regard to burner flow characteristics.and reduces sensitivity with regard to burner fl ow characteristics.

Some Advantages Incorporated in the Design of the 
Unimixer are:
• Use of fl ange connections eliminating unions in gas and 
air lines.
• Easy access to entrainment insert for inspection, 
cleaning, or changing capacity without disconnecting 
gas or air lines.

• Universal gas adjuster -- good for any type of gas.
• Installation fl exibility -- horizontal or vertical -- 

right or left without special parts.
• Available with manual or motorized Air 

Control Valve.

FLYNN BURNER CORPORATION 
COMBUSTION ENGINEERING SPECIALISTS 
AM923b1-2 04-03-2015



combustion engineering specialists

225 Mooresville Blvd • Mooresville • NC 28115
Tel  704-660-1500    Fax 704-360-1199  •  www.flynnburner.com

.oNreximinU .zo2 .zo4 .zo8 .zo01 .zo21 .zo61 .zo02 .zo42 .zo82 .zo23
01-88 52 93 45 36 86 57 28 78 98 49
11-88 13 64 76 47 87 09 99 501 801 411
21-88 74 86 79 801 811 031 041 151 751 461
31-88 85 57 801 811 621 041 451 561 271 381
41-88 57 28 411 621 031 151 461 081 981 012
51-88 58 29 621 041 151 271 981 012 222 632
61-88 59 611 051 171 081 002 522 042 752 772
71-88 201 531 081 991 222 252 072 192 513 443

01-018 62 04 06 07 77 09 201 411 521 831
11-018 53 15 37 18 58 011 521 831 251 061
21-018 94 07 001 011 221 531 051 561 081 091
31-018 06 67 011 021 531 541 461 081 591 012
41-018 67 58 021 631 551 571 591 802 022 532
51-018 68 001 151 371 091 022 042 652 072 082
61-018 69 521 581 012 032 062 582 803 523 333
71-018 401 061 032 252 572 503 033 753 083 004

81-2121 001 541 002 022 532 562 092 023 543 273
91-2121 521 271 532 552 572 503 043 573 504 734
02-2121 051 002 162 582 013 543 583 524 264 005
12-2121 071 022 392 613 043 383 034 074 615 065
22-2121 091 542 023 053 873 034 084 035 085 036
32-2121 012 562 343 573 014 074 045 006 566 037
42-2121 522 092 083 024 064 535 216 096 077 048
52-2121 082 043 544 094 035 306 086 057 528 009

42-6161 412 303 924 974 525 606 876 247 208 758
52-6161 332 923 564 025 075 856 537 508 078 039
62-6161 152 653 305 265 616 117 597 178 149 6001
72-6161 172 483 245 606 466 767 858 939 5101 5801
82-6161 292 214 385 256 417 528 229 0101 1901 7611
92-6161 313 244 626 007 667 588 989 4801 1711 1521
03-6161 533 474 076 947 028 749 9501 0611 3521 9331
13-6161 853 605 517 997 678 1101 1311 8321 8331 0341
23-6161 183 935 267 258 339 7701 5021 0231 5241 4251
33-6161 504 375 018 609 299 6411 1821 3041 6151 1261

23-0242 004 665 008 498 089 1311 5621 6831 7941 0061
33-0242 524 206 158 159 2401 3021 5431 4741 2951 2071
43-0242 254 936 309 0101 6011 7721 8241 4651 0961 6081
53-0242 974 776 759 0701 2711 3531 3151 8561 0971 4191
63-0242 605 617 2101 2311 0421 2341 1061 4571 4981 5202
73-0242 535 657 0701 6911 0131 3151 1961 2581 1002 9312
83-0242 465 897 8211 1621 2831 5951 4871 4591 1112 6522
93-0242 495 048 8811 9231 5541 0861 9781 8502 3222 7732
04-0242 526 488 0521 8931 1351 8671 8691 5612 9332 0052

Capacities at Various Pressures BTU/hr x 1000
Unimixer®

!!  Last Two Digits of Unimixer No. Denotes Air Jet Size

FLYNN BURNER CORPORATION 
COMBUSTION ENGINEERING SPECIALISTS 
AM923b1-2 04-03-2015



combustion engineering specialists

FLYNN BURNER CORPORATION
COMBUSTION ENGINEERING SPECIALISTS

225 Mooresville Blvd • Mooresville • NC 28115
Tel 704 660-1500   Fax 704 360-1199 • www.flynnburner.com

Q U A N T I T

CAT. No. CAT. No. CAT. No. CAT. No. CAT. No.

D.P. No. D.P. No. D.P. No. D.P. No. D.P. No.

1
1

1
1

1

1
1

11
1

1
1

1
1

1

1
1

1
1

1

1
1

1
1

1

1
1

1
1

1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

1 1
1

1
1

4
4

4
44

4
4

4
44

3
3

3
33 4 4

4
4

4

4 4
4

4
4

1 1
1

1
1

1
1

1
11

1
1

11

1
1

1
11

1
1

1
11

1
1

1
11

1
1

11

1
1

1
11

1
1

1
11

1
1

1
11

1
1

11

1
1

1
11

1
1

1
11

1
1

1
11

1
1

11

1
1

1
11

1
1

1
11

1
1

1
11

1
1

11

1
1

1
11

8 8
4 4 44

88
44
88

44
88

44
88

4 44 44 44 4
4 44 44 44 4

44 44 44 44
44 44 44 44

8 8
4 4

8 8
4 4

8 8
4 4

8 8
4 444

88

4 4 4 4
8
4 4

8
4
8

4
8

4
8

4444

8
8
8

8
1
0

1
2
1
2

1
6
1
6

2
4
2
0

8
8
8

8
1
0

1
2
1
2

1
6
1
6

2
4
2
0

8
8
8

8
1
0

1
2
1
2

1
6
1
6

2
4
2
0

8
8
8

8
1
0

1
2
1
2

1
6
1
6

2
4
2
0

8
8
8

8
1
0

1
2
1
2

1
6
1
6

2
4
2
0

0
9
3
5
0
0

0
9
4
0
0
0

0
9
4
5
0
0

0
9
5
0
0
0

0
9
3
6
0
0

0
9
4
1
0
0

0
9
4
6
0
0

0
9
5
1
0
0

0
9
3
7
0
0

0
9
4
2
0
0

0
9
4
7
0
0

0
9
5
2
0
0

0
9
3
8
0
0

0
9
4
3
0
0

0
9
4
8
0
0

0
9
5
3
0
0

0
9
3
9
0
0

0
9
4
4
0
0

0
9
4
9
0
0

0
9
5
4
0
0

ASS'Y "A" ASS'Y "B" ASS'Y "C" ASS'Y "D" ASS'Y "E"

A

B C

F

A

B C

A

B C

A

B C

A

B C

D D

F
F G

G

EE

5/16-18X3/4" HEX CAP SCREW
5/16-18X3/4" ALLEN CAP SCREW
5/16-18X1" HEX CAP SCREW
5/16-18 PLAIN NUT 
3/8-16X7/8" HEX CAP SCREW
3/8-16X7/8" ALLEN CAP SCREW
3/8-16X1 1/4" HEX CAP SCREW
3/8-16 PLAIN NUT
3/8-16X1 1/8" HEX CAP SCREW
3/8-16X1 1/8" ALLEN CAP SCREW
3/8-16X1 1/2" HEX CAP SCREW

D.P. # 165200
D.P. # 165025
D.P. # 164868
D.P. # 128465
D.P. # 165210
D.P. # 165250
D.P. # 165220
D.P. # 128470
D.P. # 165230
D.P. # 165260
D.P. # 165240

PART
NAME #

PATTERN CASTING
RAW

CASTING
RAW

CASTING
MACH.

CASTING
MACH.

DWG. # D.P. # DWG. # D.P. #

MIXTURE
OUTLET

A

BODY
VALVE
RATIO

B

C

AIR
JET

BODY

D

STRAIGHT
AIR

SLEEVE

90°
ELBOW

E

SCREW

GAS
RATIO
ADJ.

FLANGE
F

GASKET

G
VALVE

BUTTERFLY

FLANGE

ADJ.
RATIO

GAS

SCREW
LOCKNUT

GASKET
SCREW

GAS
RATIO
ADJ.

JET

D.P. # 126300
D.P. # 126250
D.P. # 126200
D.P. # 126150
D.P. # 120273
D.P. # 120272

D.P. # 120270

D.P. # 128850
D.P. # 128800
D.P. # 403005
D.P. # 128700
D.P. # 166370
D.P. # 166350
D.P. # 403006
D.P. # 166250
D.P. # 120170
D.P. # 120150
D.P. # 120050
D.P. # 119900
D.P. # 177800
D.P. # 177790
D.P. # 177780
D.P. # 177770#8BV-1

#12BV-1 1/2
#16BV-2
#24BV-3
DWG. # 6751A
DWG. # 3424B
DWG. # 4784A
DWG. # 5401A
DWG. # 2188-A
DWG. # 10223-C
DWG. # 4778
DWG. # 5400
DWG # 10188
DWG # 10224
1 1/8-12
1 1/2-12

DWG. # 5060D 1/4

DWG. # 5097 & 2189B
DWG. # 4704B
DWG. # 4777C
DWG. # 5399A

DWG. # 5060C 3/4
DWG. # 5060C 4/4

888-1
810-1

1212-1
1616-1
2420-1

2420-5
1616-2
1212-2
888-2

888-5
1212-5
1616-5
2420-2

1212-4
1616-4
2420-6

888-3
1212-3
1616-3
2420-4

2420-3
1616-6
1212-6

8UMF

1478J 1/4
1479E

3274C 1/6
4773B 1/3
5395 1/3

1478J 2/4
3274C 2/6
4773B 2/3
5396A 2/2
1478J 3/4
3274C 3/6
4773B 3/3
5396A 1/2
1478J 4/4
3274C 5/6
4774B 2/3
5395 2/3

3274C 4/6
4774B 1/3

5407A
52-415C

3274C 6/6
4774B 3/3
5395 3/3

106110
106250
107210
107710
108000
106120
107220
107720
108040
106130
107230
107730

106150
107250
107750
108010

107240
107740
108050
102450
107260
107760
108020

10169
10170
10171
10172
10173

10168-A
10179
10163
10164
10167
10187
10165
10174
10166
10175
10176
10177

10178
10180
10181
3364

10209
10182
10183

084080
084110
084150
084220
084270
084090
084160
084225
084283

084170
084230
084282

084190
084250
084280

084180
084240
084289
088508
084200
084260
084281

108030

1" PURCHASED  D.P. # 107140

084095

PARTS DESCRIPTION
0
9
5
5
0
0

0
9
5
6
0
0

0
9
5
7
0
0

0
9
5
8
0
0

0
9
5
9
0
0

084100

SERIES JET STYLE SPECIAL

CATALOG NUMBER

D.P. # 403003 1 1 1 1 1

PLUG
SCREW

DWG. # 10225-ARATIO
GAS

ADJ.
D.P. # 403004 1 1 1 1 1

DWG. # 5060C 2/4

1
1

1
1

1

1

1
1

1
1

1
1

1
1

1

1

1
2
1
2

8
1
0

2
4
2
0

1
6
1
6

8
8
8

1
1

1
11

Y

CAT. No.

B

ASS'Y "F"

1 1

1
1

DWG. # 10189 D.P. # 404486

DWG. #................. D.P. # ........................
DWG. #................. D.P. # ........................

DWG. # 10184

DWG. # ....................
DWG. # .......................

DWG. # 10185

ASS'Y
BODY
VALVE
RATIO

1
1

11

1

D.P. # 127350
D.P. # 127345




